accept (v)
reason (n)
logic (n)

As their recommendations were not logical, we did not accept them,
so they had to revise them and then submit them again.

We need a sound plan to reduce greenhouse gases since they are the
main cause of nearly all the environmental problems in the world.

pollute (v)
polluted (adj)
purity (n)
impurity (n)
spoil (v)
spoiled (adj)

Sanitary environment of modern world has caused allergic reactions
to increase substantially in developed nations; that’s why, these
nations have to spend a great amount of money to deal with those
allergies.

so = that’s why

It will be difficult to find unpolluted fresh water to drink in Africa, so
infections are very common there.



Although Mandela earned a lot of money as the President of South Africa, he
led a modest life and donated all his money to charities, especially to his
Children’s Fund.

Sometimes problems may seem so complicated that it can be difficult to find a
solution to them; in these cases, straightforward solutions might bring more
benefits than complex ones.

so....adj.....that = o kadar ...... ki

She is so clever that all her teachers admire her a lot.

settle (v) = yerlesmek, cozimekavusturmak

settle the crisis

nomadic X settled

sedentary job

In the past, many of the communities were nomadic, but now they
are settled societies that have built cities and towns to live in.

Obesity may result from sedentary or inactive lifestyles.

result from = -den kaynaklanmak



link
relate
associate

connect

His latest book is related to the hardships that workers at the beginning of the
Industrial Revolution had to endure.

think about / of

The Prime Minister is going to address to the public and express his/her ideas
pertaining to the state of the economy.

exist (v)

Existing traffic rules are not enough to prevent accidents; that’s why,
the government has to enact new laws that can deter the drivers
from violating the rules.

violate human rights
violation
vacant post

vacant room

There are a lot of resources available in this library, so it is popular
among university students.



lack of = .....nineksikligi
missing child
deficiency (n)

iron deficiency= demireksikligi

There is a lack of qualified engineers in this field; for this reason, the
government should support the departments educating those
engineers.

vogue = moda

implicit X explicit

Although Maya civilization dominated the Central America for centuries and
reached a high technological development, their customs and traditions were
ambiguous since there are not many documents surviving from that period.

Duracell = durable cell

perma

Engineers must use durable materials while making space shuttles
because the conditions in outer space are not like those in our
planet.

So long as there is oil in the Middle East, establishing lasting peace
will be very difficult.



So long as = -digistirece

Human beings disturbed the delicate balance of the nature in
previous centuries.



POSSIBILITY (OLASILIK): MAY, MIGHT, COULD, CAN* %50 (YAPABILIR,
EDEBILIR, OLABILIR)

A: Where are the children?

B: ----I’'m not sure---. They ...may / might / could... be in the garden.

It is not definite, but the university may/might/could increase the
tuition.

She hasn’t decided, but she may/might/could apply for the position.

DEDUCTION (GIKARIM): MUST, CAN’'T %90 (YAPIYOR OLMALI,
YAPIYOR OLAMAZ-IMKANSIZ)

A: Where are the children?

B: ----1 can hear them---. They ...must... be in the garden.

There are a lot of posters of MJ on the walls of his room. He must
love MJ a lot.

You have just eaten a big sandwich. You can’t be hungry.

It is raining outside. She can’t go for a walk.



ADVICE (TAVSIYE): SHOULD / OUGHT TO / HAD BETTER
(YAPMALI,ETMELI, YAPSA iYi OLUR)

You should stop smoking.

She should do more exercise.

You shouldn’t be late for the meeting.

| had better leave now, or | will miss my plane.

You had better finish your homework tonight.

NECESSITY / LACK OF NECESSITY = NEED TO / DON’T NEED TO,
DOESN’T NEED TO, NEEDN’'T

You need to come here early tomorrow.

She need to send the letter now.

You needn’t finish typing the letters today.
You don’t needto finish typing the letters today.

You don’t have to finish typing the letters today.



EXPECTATION (BEKLENTI) : BE SUPPOSED TO / BE TO DO(VO0)

He is supposed to arrive today.

They are supposed to send our package tomorrow.

She is supposed to help us.

I’ll book the hotel rooms for our guests and you are to meet them at
the airport.

All the students are to take part in this study.

You are to stay here until | come back.



Smoking is dangerous.

Using a telescope,my brother observed the full moon last month.

Used especially in summer, sun creams are very useful.

Built in 1950, that bridge is still in use.



